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CG-11-2020
WINTER EXAM 2020
Subject Name : NA-326_Management Accounting-11-XXX_VI

Date : 17/03/2021 Duration : 60 min. |

Instruction / ﬁ?.l?n/ -

* Follow the detail instructions given on OMR Sheet
* 3 T 3R Gl §S G Treled .

Q.1 Liquid Ratio is also known as :
Waﬂmﬁﬂmﬁﬁwuwm EICIGRIFICCIRS I R

AlQuick Ratio [sTere 31efarel] ClBoth A & B [37 3101 7 &1e]
BlAcid test Ratio [3meaaafa U] DlNone of the above [aSer 8T ATEY.]
Q.2 Liquid Liabilities = ...................
RASTAT= oo
AlTotal current Liabilities - Bankover draft [UTUT el
T - ARy Jrfafaey] ClTotal current Liabilities - Capital [TSHOT Tl ST - HTsael]
BlTotal current Liabilities - Creditors [THOT T ST - DlNone of the above. [afrer §T T8 ]
era]
Q.3 The Ratio are classifiedinto ................ categories:
kI S IR [GHTITe! ST
AlTwo [ Clrour [@R]
BlThree [ DlNone of the above [a¥rer Y =T8T ]
Q.4 CurrentRatio=...................
el 3-1@?!1?{ IO
Alcurrent Assets + current Liabilities [Tl |9 + el
] Clcurrent Assets x current Liabilities. [Trel T x TeT ST
BlCurrent Assets + Fixed Assets. [a7e §adT + fEeR DlNone of the above. [arer 8T ATET ]
ey

Q.5 Current Ratio also called as :

el T 318 W Fgeel o
Alassets Libaility Ratio [Feelt 30T §21dT 31earel] ClAcid Test Ratio [Xe 31rd]
BlWorking Capital Ratio [RI&mRY #isaer 3HeITA] DlNone of the above [a¥rer Y =T8T ]

Q.6 Averge Stock = ..............
AN EHY = ...
A]Closing Stock - Opening Stock + 2 [Ha0T T&heT -
IRHOT TheT + 3] Clopening Stock + Closing Stock. [STR3OT TaheT + HI0T THeT]
B]Opening Stock + Closing Stock + 2 [WTR$T0T THeT + D]Closing Stock x Opening Stock + 2 [TaT0T TheT x YRUT FTheT + 3]
HaROT TheT + 3]

Q.7 Which of the following is not a current assets :

Greirel YT SIoTelT Tel HOclT ATeT
Alsundry Debtors [fafatr Fom] Clprepaid expenses RECIGRCE]
BIBill Receivable [sTear i3] Dlpreliminary expenses. [F3i &4
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Q.8 Cost of goods Sold = ...............

fafera Aremar aRvag = ...
Alsales + Gross profit [[ashT + Teher w187 Clsales - Gross profit [fashT - Tehel aTeT]
Blsales + Gross profit [ + Taet aT#1] Dlsales - Net profit. [ - NCACIE|

Q.9 Which of the following includes in shareholders Fund :

Groilel YT FHRATAT HETERHET fTellTed THTAL 8ial
AlShare Capital. [HTT Hizad] Clp & L A/C (Cr. Bal.) [ETHTEITH or@T (ST 317a)
Blreserve Fund [&fra feh] DlAll of the above. [a8rer 8T 4 ]

Q.10 Stock Turn overratio= .................
T 37 T = ..o

AlCost of Good Sold + Average Stock. [fashra ArerraT ClBoth A & B [37 3101 3 298]

IRUTY + FIE Ehtl]

DlNone of the above. [a¥reT 8T ATET.
BlNet Sales + Average Stock [R[ee; FashT + ERIE Tehed] ]

Q.11 Debtors Turnover Ratio=...............

FROThT Tl JATT = ..o

A]Debtors - Bills Receivables/Cash Sales x

No.of.Working days. [FZ0TeT - ATeITaIa/AG Tashr x

THT HIEN] Clbebtors + Creditors x No.of Working days. [FOTaT + &eTaT x UTUTEFI'éﬁﬁTﬂ
B]Debtors + Bills Receivables/Credit Sales x DINone of the above [aﬁ?rfl@r;n?r.]
No.of.Working days. [FUTe! + Jreafaua/34R fashr x
g e
Q.12 The project is accepted when :
Yehod g1 TEaehRell STTdl Stegl
AlThe profitability index is equal to one [STHAYEGAT ClTthe profitability index is greater than one [eTeT9EAT G2 Teh &I ST
&R TehedT s 319aY.] 3/
BlThe funds are unlimited. [l 3rTE 3raar ] DlBoth B & C. [7 30T & &l ]
Q.13 Projects with ............ preferred.
GrelTel YhY FIUTAT Tehed HAHHITUSS UfgeT :
AlNormal pay back period [T ¥ 55 RadRrs] ClHigher pay back period [3=a ¥ && RiR@g]
BlLower pay back period [37e9 ¥ & ] DlNone of the above. [a¥rer 8T ATET ]

Q.14 Capital Budgeting is a part of :
HISTEIT HGTSTIT Tlellel Jehl HITaT HIET 378

Allnvestment decisions [TfcTaurh feoTa] Clworking capital management [ Higael cTaEATIHH]
BlMarketing management [f&quTet sqaeamas] Dlcapital structure. [375ael T

Q.15 Which of the following is not a capital Budgeting decisions?
T@reirel YT FIUTAT HiSTell GToTdae 0T AT
AlMerger [faeiaoT] Clinventary level [Eaer araa]
Blprogram expansion [faeamia #RieH] Dlreplacement of assets. [Fadide d&e.]

Q.16 A project may be regarded as high risk project when :
@rolter Yehr h1oTear IRIFANT Yered 8T 3Ta SEH Yehod FEULT Haltell SiSel?

Allthas smaller variance of out come but high a initial - Clit has smaller variance of out come and low initial investment. [3reafersaey TR
investment. [3Teafarsadt ] AT He T SITEd ] 36T ITAUHH]
B]lt has larger variance of out come and high initial D] > N2
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investment. [$7ea STl TR ITaUTh Hod ST ] It has larger variance of out come and low intial investment. [$TeafesTdlT T
IATOLE Hed FH]

Q.17 According to Net present value criteria, a project is approved if :
€ TAATA Hod [HhVTHR Treliel TRITI Tehoud A=gdT el STl oK :
Aljts Net present value is positive Wwﬁaﬁﬂm

e el 3l ] ClBoth A & B [37 37107 7 &1e1]
BlThe Funds are unlimited [orR Tl Suclstrer oo DlNone of the above. [arer 8T ATET ]
38

Q.18 Capital Budgeting is known as :
Allnvestment decision making. [TfcTaoreh forofar wfshan] ClPianning capital expenditure [#igae @ fFrer]
Blcapital expenditure decision. [#igae @< fof] DIl of the above [a8rer 8T &4]

Q.19 Depreciation is included in cost in case of :

T ST IRUIATT THRT FHTTASS Shell SATAT?
Alpay back method. [Ra%s T€d] Clpresent value index method. [acTaTe Hog fden ugd]
Bl Accounting rate [9RdTaT IgaaT oI &3] DlAll of the above. [a8reT 8T ]

Q.20 Capital Budgeting is :

STl IETSTITH........... 37Te.
Alshort term [3reasTeli] ClBoth A and B [37 31foT 7 152
BlLong term [Ereare] DIAll of the above. [aSer ¥ 4 ]

Q.21 Which of the following transaction can be recorded by Financial Accounts :

AlBudget Figure transactions. [3/&Tforar 3TeraTdra
getrig [ Clstandard Figure transactions. [SHTT 3TFaRY SIaER]

a1 e DIAIl of the above. [adrer ST &4
IActual Figure transactions. [FeeT HTeHaRY UaER]

Q.22 The term Financial Statement analysis includes :

faccliar faawor faeelvor #ar Heaheuatd sHemar GATI gidT
Alinterpretation. [31efaTereT] ClBoth A and B [37 371fST 7 &152]
Bl Analysis [fagaor] Dlrecords only. [Fed =i, ]

Q.23 Which of the Following statement gives a reviewon the profitability of a business.

GrelTer YT FIvT TIaR0T SHGHTATSAT ATHIGATR TRl TThcl?
AlBalance Sheet [fEudT favor] ClFund flow Statement [fefruraTg f¥azor]
BlCash flow Statement [Sr@saTe f&awor] Dlin come Statement. [3m2-f&awor.]

Q.24 Which of the Following technique of Financial statement analysis :

e faavoTr [agervor avar reirer Shr FIvTd a7 3118
AlCommon size Statement [ATATT 3R FGT0T] Clrend Analysis ECRIRERERR]
BlComperative Statement [JeretTcae faavon] DIl of the above. [a¥rer 8T 4 ]

Q.25 Financial Statement analysis is Significant For :

e e 39T § SHIvmard! #gcar 379

AlBankers [F&¥] Clinvestors EISELCTAR
BlEmployees [&#amd] DlAll of the above. [a¥rer 3T &4 ]
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Q.26 While perparing the common size Income Statement each item of income Statement is expressed as % of ..........

AT TR T fIaR0T IR AT 31 ISR Tedeh geahid......... gfaerd cIed dhel STTd.
AlTotal Assets [TH0T ] ClNet profit [R[€ o8]
BlTotal sales [TpoT fash] DlNone of these. [amddT ATET ]

Q.27 While perparing Comperative Financial statement analysis, which of the Following Formule can be used :

facciar faaRoT Jefellcae faRelSuT SIdT=T Wrellel YehT HITTAT FATT ST el ST

A]Absolute increase or decrease/Previous year
absolute Figuer x 100 [WcgeT ate fohar ge/aAmsfer

IuTATT TcTeT 37 x fo0]
Bl Absolute increase / Absolute decrease x 100 [FcTeT
ATE/IcTET BT x goo]

Clabsolute decrease / Absolute increase x 100 [TcT&T gc/IcT&T dlc x ¢oo]
DlNone of the above. [a3rer 8T ATET ]

Q.28 Trend Analysis is Significant for :

Tl fARINOT § HRATATS HeeaTd 3TE
AlForecasting & Budgeting. [3iaTsT 31T 3iarst w]  Clcapital Rationing [stisael fovairor]
Blprofit Planning. [FoFaTe forist] DINone of the above. [afrer YT ATEY ]
Q.29 In Trend analysis the base year is :
Sl fARRINUTTA TR a¥ 10T 3.
Alcurrent year [eme] &) Clany year [0 a¥]
BlLast year [#Tefrer a] DlNone of the above. [a€rer 8T AT

Q.30 Which of the Following is responsibility center?

Treier YT 0T ScadeTAcd shg 3Te :
Alexpense Center [RFFd 3] Clinvestment Center [T hg]
Blprofit Center [7T%T &g Dlall of these. [Famier &d]

Q.31 The responsibility accounting emphasizes the performance of ................
ScReIAcT oI HIOTIT HIAIRIER $- SdTd
Alsystem [om] ClBoth [31 3nfoT 7 g1+
BlMen [eaar] DlNone of the above [a¥rer Y =T8T ]

Q.32 The responsibility Accounting is also called :

SccRel e SETehe FgU SETel Bl ST,
Al Activity Accounting [fEramefier srameat] ClBoth A and B [37 371fST 7 &152]
Blprofitability Accounting [eITTsieaT oramansd] DlNone of the above. [a€rer 8T AT ]

Q.33 What is the main advantage of Responsibility accounting :

SccReTAcd AT HEY BT H1Y 3Tg?
Alimproves Performance [#HRIET gerom] ClHelpful in decision making [T Soamd ATEIFR]
Bljt Fixes responsibility [sTaTaerr ffRaean DIl of the above [a8rer §r &4

Q.34 If the responsibility centers gets more revenue from output, then it is called :

SR 3ccReTRcd el SIed Hgel Il Bl 3l X AT I FEUTATA?
Aljnvestment Centre EIGELCICT! Clprofit Centre [T Fg]
Blcost Centre [aftvar &g DlExpense Centre [fFaa &)

Q.35 According to responsibility accounting, the entire organisation is divided in to various .................
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Sccel e e TEadieaR, Heuea & fafde........... FEY ATl ST,

AlBusiness Centre [Eaa®TRT &) ClRresponsibility Centre [3eaarea &g]
Blprofit Centre [7%T g DlNone of the above [aSrer 8T ATEY.]

Q.36 Working Capital = ....................
FRIFNT AT = ...

Alcurrent Assets - Current Liabilities. [T - Tt
CRnl Clcurrent Assets + Fixed Assets. [TeriadT + 2R Fud]
BlCurrent Assets + Current Liabilities [areréiaa + @er  DINone of the above. [a€ier 8T ATéY.]

e

Q.37 Which of the Following is the factor determining to the working capital.
GTelrer YhT SIUTAT Tesh HIIHRT Higde YRS Far.

AlNature of the business [CIGaTITY FaT] Clprofit level [T aTdeN]
Blproduction policy [3eqmgaT=r &iRoT] DlAll of the above [a8rer 3T &4

Q.38 Current Ratio is 4:1 Net working capital Rs. 30,000. Fixed the amount of current assets.
SR el 3T ¥:¢ 3T Y& PIIHRT HISdA T, 30,000, 3R R el FYH I o FHla.

A]Rs. 10,000 [10,000] ClRs. 24,000 [%. :¥,000]

BlRs. 40,000 [%. Yo,000] DIrs. 6,000 [%. &oo0]

Q.39 Permanent working capital :

TEUT I ST

ClIs the amount of current assets required to meet a firm's long term minimum

PlVaries with seasonal needs [TSITER Faerd ST ooy [T REhTeleT RFHATeT IRST qoT FRULTATS! 3T 3 ]
Plincludes Fixed assets. [FEeR &l ] Dlinclude account payable. mﬁw@;ﬁm@m.]

Q.40 Gross working capital isa .................. Concerned Concept:

Tohel HIIHNT HASTA & GhedeT............. o Heefia 3.
AlActual [arEaa] Clperiodical [frraere]
BlGoing [=ITe] &7e] DlNone of these. [FamdT ATET]
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